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QUESTION 1

Refer to the exhibits. 

Examine the VAP configuration and the WiFi zones table shown in the exhibits. 

Which two statements describe FortiGate behavior regarding assignment of VLANs to wireless clients? (Choose two.) 

A. FortiGate will load balance clients using VLAN 101 and VLAN 102 and assign them an IP address from the
10.0.3.0/24 subnet. 

B. Clients connecting to APs in the Floor 1 group will not be able to receive an IP address. 

C. All clients connecting to the Corp SSID will receive an IP address from the 10.0.3.1/24 subnet. 

D. Clients connecting to APs in the Office group will be assigned an IP address from the 10.0.20.1/24 subnet. 

Correct Answer: BD 

 

Latest NSE7_SAC-6.2 Dumps | NSE7_SAC-6.2 VCE Dumps | NSE7_SAC-6.2 Study Guide                               2 / 7

https://www.leads4pass.com/nse7_sac-6-2.html
https://www.leads4pass.com/nse7_sac-6-2.html
https://www.leads4pass.com/nse7_sac-6-2.html


https://www.leads4pass.com/nse7_sac-6-2.html
2024 Latest leads4pass NSE7_SAC-6.2 PDF and VCE dumps Download

 

QUESTION 2

Which step can be taken to ensure that only FortiAP devices receive IP addresses from a DHCP server on FortiGate? 

A. Change the interface addressing mode to FortiAP devices. 

B. Create a reservation list in the DHCP server settings. 

C. Configure a VCI string value of FortiAP in the DHCP server settings. 

D. Use DHCP option 138 to assign IPs to FortiAP devices. 

Correct Answer: C 

 

 

QUESTION 3

Refer to the exhibit. 

Examine the network topology shown in the exhibit. 

Which port should have root guard enabled? 
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A. FortiSwitch A, port2 

B. FortiSwitch A, port1 

C. FortiSwitch B, port1 

D. FortiSwitch B, port2 

Correct Answer: A 

Reference: https://docs.fortinet.com/document/fortiswitch/6.4.2/administration-guide/364614/spanningtree-protocol 

 

QUESTION 4

Refer to the exhibit. 

Examine the partial debug output shown in the exhibit. 
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Which two statements about the debug output are true? (Choose two.) 

A. The connection to the LDAP server timed out. 

B. The user authenticated successfully. 

C. The LDAP server is configured to use regular bind. 

D. The debug output shows multiple user authentications. 

Correct Answer: BC 

 

 

QUESTION 5

Refer to the exhibit. 
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In the WTP profile configuration shown in the exhibit, the AP profile is assigned to two FAP-320 APs that are installed in
an open plan office. 

1. 

The first AP has 32 clients associated to the 5GHz radios and 22 clients associated to the 2.4GHz 

radio. 

2. 

The second AP has 12 clients associated to the 5GHz radios and 20 clients associated to the 2.4GHz radio. 

A dual band-capable client enters the office near the first AP and the first AP measures the new client at ?33 dBm signal
strength. The second AP measures the new client at ?43 dBm signal strength. 

In the new client attempts to connect to the corporate wireless network, to which AP radio will the client be associated? 
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A. The second AP 5GHz interface. 

B. The first AP 2.4GHz interface. 

C. The first AP 5GHz interface. 

D. The second AP 2.4GHz interface. 

Correct Answer: A 
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